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LA vt vl

I 2 mwn: status of AN N7V after redemption (pre-av)

a
b
c

If: he or his son redeemed it — doesn’t leave father’s possession at 921

However, if: anyone else redeemed it, goes to 023 at Hav

p7n.if a 103 redeems it, he can’t argue that since it goes to n’n3 at Yav, he may keep it
i Rather: it gets divided among 021 of that “1nwn

ii  Reason:v.3 - only keeps it if it is nrNR

II  xma:interpreting v. 1

a

1+ clause: refers to the owner; 2™ clause: refers to qar; 3" clause: refers to anyone besides his son
i Counter: perhaps it refers to anyone besides his brother
ii  Block: "»R" refers to brother — but 12 is not an N8
1 Argument: 11 is closer to father, as he takes his place for 1y’ and for ownership of »2y Tay
2 Counter: brother is closer as he takes the place of dead brother for n1a»
(a) Block: m1a» only comes about if there is no son -> if there is a son, he is closer
3 Question: why not prove supremacy of 11 as he has 2 points of contact (»12y T2y ,17)?
4 Answer: 2y 72y is also inferred from this point (i.e. that »1ap 72y goes to son, not brother)
iii  Question (77258 92 737): can a daughter keep field in family (as does son)?
1 Lemmal: since for purposes of D12n M09, daughter=son, she can play same role for field,
2 Lemma2: since for nom she is “like an outsider” — ineffective
3 Answer: from »121n — anyone is an R in the place of the son (and so is she)
iv Question (87’7 73): who is the “close one” for a woman (who is w11 her »9n '021):?
1 Lemmal: could be husband, as he inherits from her
2 Lemma2: could be son, as he inherits "&7 just like prmn —p'n
v Question (1719 n”27): if a field is wT1pn less than 2 years before Yav, does it automatically go to n»na?
1 Response: is the thinking, per vv. 2-3, that if there is no 17, no n%R3?
(a) Rejection: however, v. 1 proves that if it can be redeemed, it may be and not go to 0’113 — as in this case

III 7 mwn: status of AMINR 7w which isn’t redeemed before Y2y

a

b

C

777 71 0n3 enter the field and take possession — but redeem it from wTpn
i Reason: infers w1p::w1p from nva wr1pn — in that case, must pay to redeem (unlike nxy 'w1, these are both n»an p12a)
7. 00 enter the field and take possession — without any redemption-payment
i Reason: infers w1p::wp from n¥y »wad —just like that 129p is given to nnnd as gift — so too with wand »mIn
1  And: unlike nva w*1pn, these are both 1n3% ninn
~”7. they neither take possession nor pay — rather it is called w107 17w (abandoned) in perpetuity
i Until: someone else redeems it — then it goes to D21 at the next Y2y
1  N"sreason: a1 —read v. 1 as Ty YR» RY..58» RY DR; but 7910 DX...
(@) Challenge (»28): how can we cut up the pyoa this way?
(b) Rather (»28): per ®n»11 (which must be authored by ®™, as per below): 9&8» 89 might have meant that it
cannot be considered as mpn nTv, but "1y” indicates that it just can’t revert to nMMNKR N7V, but is Mpn NTY
(i) When: this must be nw %2y (else it is "nNR NTw) and that is only meaningful for 8™
(ii) Challenge: "™ »™ have to interpret "11p”
1. Rather: the verse refers to a field that went to ©’1n3, one of whom was v»1pn and the original own-
ers came to redeem it; X"70 they can’t redeem at all 2Ty — but can be redeemed as mpn nTv
2. Support: k11 interpreting v. 4
a. Justification: if we only had Y%» 85, would apply to field that doesn’t go back
i.  And: if we only had ymp qwR5, here, where n’y1 are paying, R"T0 it goes back to them
ii. And: we need My to teach that it can go back as nipn nTv
(c) Resolution (837): R"™’s reason — INR¥1 (v. 3) — when it leaves another’s possession
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